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— The problem is that he cannot play the guitar.
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<f51> The problem is (that) he cannot play the guitar.
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The truth is (that) he was lying.
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My idea is (that) we go there by train. (FAOT7 AT 71, FA72BIZZFZEFTHEETIIKIETT)
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2 <ff1> The truth is (that) he was lying.  (BEZEiZ, HE2MEE OV TWEWHZETT)
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= (that) he cannot play the quitar
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The problem is (that) he cannot play the quitar.
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The truth is (that) he was lying.
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(f3E3L) The problem is not (that) she cannot speak English.
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(%ERI3C0)  Is the problem (that) she cannot speak English?
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